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BERE HEFEFRE(A) RISEERE(B) IEIR(A)-(B)
REBENG 644,325, 874 623, 856, 943 20, 468, 931
HOEERIOE-IT 1Ry NBZEINR 0 0
2 [ 0 0
ZOMDIRES 0 0
" Y-ERESNZGSET (1) 644,325, 874 623, 856, 943 20, 468, 931
| NS 496, 019, 385 470, 151,917 25, 867, 468
£ BRE 72,312, 206 69,817, 732 2,494, 474
Z E S5 26, 622,179 26,921, 628 -299, 449
g A 40,281, 964 41, 625, 450 1,343, 486
18 EEHEESRIRII SN -17, 649, 773 -18, 191,933 542,160
i | X |emnmeas 0 0 0
D | EEEI LR 0 0 0
B e 0 0 0
HURTEES | HERA 0 0 0
ZOMOEF 0 0 0
Y-EXESERT (2) 617, 585, 961 590, 324, 794 217,261,167
H-EXESNERESRE (3) = (1) - (2) 26, 739,913 33,532,149 -6, 792, 236
BADF S EUNE 0 0 0
BRI S ERS RN 31,539 33, 496 -1, 957
HEIbEEHEEETF ST R ZEFI RN 0 0 0
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5 g A 0 0 0
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el |maamrsssmns 0 0 0
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| B | se e T s TR 0 0 0
ERMmEES e 0 0 0
TOMMOY-EXEESIER 6,414,512 6,367, 860 46, 652
Y-EXEEIERET (5) 6,414,512 6,367, 860 46, 652
Y-EXEBIMERERE (6) = (4) — (5) 5, 255, 556 3,988, 369 1,267,187
ERIEHEE (7) = (3) + (6) 31,995, 469 37,520,518 -5, 525, 049
it R A G 0 210, 000 -210, 000
MR RS M B UN G 0 0 0
EEZSESEASc2EESTHENG 0 0 0
g S 0 0 0
EE &R 0 0 0
ZOMORERIURZS 0 0 0
E FFRIINZERET (8) 0 210, 000 -210, 000
12 EARBHEALE 0 0 0
W |arEsrimE 0 0 0
:rs Bl A AME - 53R 6 157, 559 -157, 553
s |EEMBESHRIEI IR (RE1%5) 0
R | BB &SRR A5 0
KEBKR 0
ZOMORERIIER 0
FRIEMAET (9) 6 157, 559 -157, 553
HRERHES (10) = (8) — (9) -6 52, 441 -52, 447
LEEBMEAELE (11) = (7) + (10) 31,995, 463 37,572, 959 -5,571, 496
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BIEAREUEENIERAERE (1 2) 391, 272, 267 393, 399, 308 -2,127, 041
SHRIRBEENERERE (13) = (11) + (12) 423, 267, 730 430, 972, 267 -7,704, 537
EAEHERE (14) 0 0 0
TOMOIEIEEFHRE (1 5) 13,520, 000 16, 000, 000 -2, 480, 000
TOMOIEIIEIEIZE (1 6) 62, 600, 000 55, 700, 000 6, 900, 000
REHEBCEBIERES (17) = (13) + (14) + (15) — (16) 374,187,730 391, 272, 267 ~17,084, 537
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